
Restar de Ceros (J)Halle cada diferencia.
100 1000 100 1000- 100 - 331 - 26 - 811
100 1000 100 100- 55 - 157 - 55 - 6

1000 100 100 1000- 836 - 37 - 47 - 184
100 1000 100 1000- 43 - 839 - 78 - 774

1000 100 100 100- 316 - 72 - 58 - 92
100 1000 1000 1000- 11 - 983 - 516 - 736
100 100 1000 1000- 74 - 26 - 562 - 50
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Restar de Ceros (J) RespuestasHalle cada diferencia.
100 1000 100 1000- 100 - 331 - 26 - 8110 669 74 189100 1000 100 100- 55 - 157 - 55 - 645 843 45 941000 100 100 1000- 836 - 37 - 47 - 184164 63 53 816100 1000 100 1000- 43 - 839 - 78 - 77457 161 22 2261000 100 100 100- 316 - 72 - 58 - 92684 28 42 8100 1000 1000 1000- 11 - 983 - 516 - 73689 17 484 264100 100 1000 1000- 74 - 26 - 562 - 5026 74 438 950
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